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a) log,32 =

1
1 _— =
c) log, 4
e) logs5 =
1
1 _— =
g) logs 3

RDTD x ERD L.
a) log,x =3

c) logzx =2

log, M =r, log, N =5 EBEM =a",

RDBDEDDTIRD T EZFRE K.
a) log,(M x N) =log, M + log, N

c) log, M" =nlog, M
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b) 10g25 5=
d) 10g4 16 =
f) log,2 =

h) logg v2 =

__1
b) log,x = 3

d) 10g27 x=3

N =a* ERED. CDOIELEHERZFARLT

M
b) loga(ﬁ) = log, M —log, N
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p=log,2, q=1log,3ETDEE, RDE%= p, q THRE.

a) log,8 =

c) log, 12 =

RDZ L DI ESTBEE L.

3 3
a) log, i log, 5=

V5

1
b) 5 logs 5 —log, 3 =
¢) loga(3 4+ V/5) +10g,(3 - V/5) =

d) 3logs 15 —logs 135 =

(6] ROBLDIAEBBICEL.
1
3

loglo 125 + loglo % — 10g10 0.3 =

A B C
b) log, & +log, = +log, — =

b) log, 18 =

d) log, 1.5 =

NBDEEICKD, a'8«b = b KRDIID. COXDTRD ¢ ZERETDNHERMDIEICLD,

log, b 7% log, a & log, b TKE.

log,3=m DEE, log, 6, log;2 % m THRHE.

a) log, 6 =

b) log;2 =

[B1TH<]
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a) log, b -logya =

b) log, b -logy ¢ -log,a =

BI¥l y = log, x [CDWTRDRICHTIFED x DEZ B THRE. 112U, 29° = 1.414 £T 5.

BISZFA LT, BHEH y =log, x DI ST =T




4Dy =3%, y =37, y=logzx, y =—logsx DT> I%=HIT.

232 (FAMDEHD. 1212U, loge2 = 0.3010 £ET 3.

Yash, HABOHS % 1 BRI BITEI, %@%rg@%&s@cua ZOHS2AEAN
DESRI-EDEBBTDE, RENEED % HFICEHENDD. 12120 log,e 3 = 0.4771 £T 3.
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